Pay Estimate Created Date: August 1, 2024

Progress Estimate N 2	Number	Contract ID Prime Contracto	240419-C02 r Emery Sapp & S	ions, Inc.	Pay Period Start Pay Period End			Original Contract Amount Net Change Order Amount Current Contract Amount	\$5,294,999.99 \$69,229.99 \$5,364,229.98
Approval Date									By User
August 1, 2024			Generated and	Approved	(and should be cor	nsidered	d Draft) a	t the Project Office Level by	degrow1
August 1, 2024	ust 1, 2024 Reviewed and Approved (and should be considered Draft) at the Resident Engineer Le								
August 5, 2024				Reviewed	l and Approved at t	he Cen	tral Office	e Controllers Office Level by	ramses1
Original Completio	n Date	Current Co	npletion Date	Actu	al Completion Da	te	%	of Current Contract Amoun	t Complete
November 1, 20	24	Novemb	er 1, 2024					12.33%	
	Contract	Informational Dat	tes		Milest	ones			
Date Description	Original	Completion Date	Current Complet	ion Date	No Milestones Ex	ist for (Contract		
Acceptance Date									
Awarded Date	May 1, 20)24	May 1, 2024						
Letting Date	April 19, 2	2024	April 19, 2024						
Notice to Proceed Date	May 16, 2	2024	May 16, 2024						
Open to Traffic Date									
Work Began Date	July 1, 20	24	July 1, 2024						

Contract Total Pa	ay For Estimate No. 2				
		This Estimate	Previous	To Date	
240419-C02					
	Total Posted Items Pay	\$229,959.56	\$431,507.46	\$661,467.02	
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$431,507.46	\$661,467.02	
Contract Total Pa	ayable This Estimate:	\$229,959.56			

Contract Total Payable This Estimate:

Items Paid This Estimate Period

Project Number	Line Number	ltem Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J4I3366	0070	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	SQYD	\$271.600	103.2	\$28,029.12
	0100	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	LF	\$9.600	317	\$3,043.20
	0110	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$8.500	43	\$365.50
	0120	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$16.800	10	\$168.00
	0130	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	EA	\$9.050	64	\$579.20
	0140	6161005	CONSTRUCTION SIGNS	SQFT	\$7.450	866	\$6,451.70
	0150	6161008	ADVANCED WARNING RAIL SYSTEM	EA	\$53.000	2	\$106.00
	0160	6161025	CHANNELIZER (TRIM LINE)	EA	\$17.000	150	\$2,550.00
	0170	6161033	DIRECTIONAL INDICATOR BARRICADE	EA	\$48.000	28	\$1,344.0
	0180	6161040	FLASHING ARROW PANEL	EA	\$800.000	2	\$1,600.0
	0190	6161055	SEQUENTIAL FLASHING WARNING LIGHT	EA	\$47.850	28	\$1,339.8
	0200	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	EA	\$1,600.000	2	\$3,200.00
	0210	6181000	MOBILIZATION	LS	\$142,150.000	0.25	\$35,537.50
Project J4	413366 - To	otal					\$84,314.0
J4I3366B	0340	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	SQYD	\$271.600	252.5	\$68,579.00



Pay Estimate Created Date: August 1, 2024

Progres	s Estimat 2	te Number	Contract ID Prime Contractor	240419-C02 Emery Sapp & Sons, Inc.	Pay Period Start Pay Period End		24 Ne	riginal Contract et Change Order urrent Contract	Amount	\$5,294,999.99 \$69,229.99 \$5,364,229.98
Project Number	Line Number	ltem Code		Item Description			Unit	Unit Price	Current Installed Qty	Current Installed Amount
J4I3366B	0370	6131014	FULL DEPTH PAVEN	/ENT REPAIR SAW CUT ΓS)	(FOR PERIMETER	AND L	F	\$9.600	1,021	\$9,801.60
	0380	6131015	DOWEL BAR (DRILL DEPTH PAVEMENT	ING, FURNISHING AND II REPAIR	NSTALLATION) FO	R FULL E	A	\$8.500	400	\$3,400.00
	0390	6131017	DOWEL BAR (FURN FULL DEPTH PAVEN	ISHING AND INSTALLATI /IENT REPAIR	ON WITH BASKETS	S) FOR E	A	\$16.800	18	\$302.40
	0400	6131018		FURNISHING AND INSTA REPAIR (TYPE L JOINTS)		ILL E	A	\$9.050	59	\$533.95
	0410	6161005	CONSTRUCTION SI	GNS		S	QFT	\$7.450	546	\$4,067.70
	0420	6161008	ADVANCED WARNIN	NG RAIL SYSTEM		E	A	\$53.000	2	\$106.00
	0430	6161025	CHANNELIZER (TRI	M LINE)		E	A	\$17.000	150	\$2,550.00
	0440	6161033	DIRECTIONAL INDIC	ATOR BARRICADE		E	A	\$48.000	28	\$1,344.00
	0450	6161040	FLASHING ARROW	PANEL		E	A	\$800.000	2	\$1,600.00
	0460	6161055	SEQUENTIAL FLASH	HING WARNING LIGHT		E	A	\$47.850	28	\$1,339.80
	0470	6161098A		SAGE SIGN WITHOUT CO RACTOR FURNISHED, CO			A	\$1,600.000	2	\$3,200.00
	0480	6181000	MOBILIZATION			L	S	\$195,284.350	0.25	\$48,821.09
Project J4	13366B - T	Total								\$145,645.54
Overall - 1	Fotal									\$229,959.56

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4I3366	0070	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-413.9	\$271.60	(\$112,415.24)
	0070	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	413.9	\$271.60	\$112,415.24
	0120	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Material			-120	\$16.80	(\$2,016.00)
	0120	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	120	\$16.80	\$2,016.00
	0130	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	Material			-119	\$9.05	(\$1,076.95)
	0130	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	119	\$9.05	\$1,076.95
J4I3366B	0340	FURNISHING AND PLACING CONCRETE MATERIAL FOR	Material			-1,037.5	\$271.60	(\$281,785.00)



Pay Estimate Created Date: August 1, 2024

Progre		imate Number 2	Contract ID Prime Contr	24041 ractor Emery	9-C02 / Sapp & Son:	s, Inc. Pay Period End August 1, 2024 Net (inal Contract Change Orde ent Contract	r Amount	5,294,999.99 69,229.99 5,364,229.98
Project Number	Line No.	Item Desc	cription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4I3366B		FULL DEPTH	I PAVEMENT REPAIR						
	0340	FURNISHING AI CONCRETE MA FULL DEPTH	TERIAL FOR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	1,037.5	\$271.60	\$281,785.00
	0390	DOWEL BAR (F AND INSTALL BASKETS DEPTH PAVEM	ATION WITH S) FOR FULL	Material			-248	\$16.80	(\$4,166.40
	0390	DOWEL BAR (F AND INSTALL BASKETS DEPTH PAVEM	ATION WITH S) FOR FULL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	248	\$16.80	\$4,166.40
	0400	FURN INSTALLATION DEPTH PAVEM		Material			-179	\$9.05	(\$1,619.95
	0400	FURN INSTALLATION DEPTH PAVEM		Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	179	\$9.05	\$1,619.95
Total									\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J4I3366	IS 70-2(129)	Coldmill and resurface	I-70	SALINE	the west bound lanes from the Blackwater River bridge to the Cooper County line
J4I3366B	l 70-2(123)	Coldmill and resurface	I-70	SALINE	the east bound lanes from the Blackwater River bridge to the Cooper County line

Totals by Job Numbers

366	This Estimate	Previous	To Date
Posted Item Pay	\$84,314.02	\$134,488.17	\$218,802.19
Gross Item Adjustments	\$0.00	\$0.00	\$0.00
Gross Item Pay	\$84,314.02	\$134,488.17	\$218,802.19
la continu	* 0.00	* 0.00	* 0.00
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
366B	This Estimate	Previous	To Date
Posted Item Pay	\$145,645.54	\$297,019.29	\$442,664.83
Gross Item Adjustments	\$0.00	\$0.00	\$0.00
Gross Item Pay	\$145,645.54	\$297,019.29	\$442,664.83
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Districtive		AA AA	* 0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J4I3366, Item 6131010, Project Item Line Number 0070, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366, Item 6131010, Project Item Line Number 0070, Material Set 613101096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366, Item 6131010, Project Item Line Number 0070, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366B, Item 6131010, Project Item Line Number 0340, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366B, Item 6131010, Project Item Line Number 0340, Material Set 613101096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366B, Item 6131010, Project Item Line Number 0340, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366, Item 6131017, Project Item Line Number 0120, Material Set 613101796, Material 1057JMDBEC6.11 - Dowel Bar Epoxy Ctd Gr60 1 1/4 @, Acceptance Action Generic ReinforcingMisc is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366, Item 6131017, Project Item Line Number 0120, Material Set 613101796, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366, Item 6131017, Project Item Line Number 0120, Material Set 613101796, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366B, Item 6131017, Project Item Line Number 0390, Material Set 613101796, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366B, Item 6131017, Project Item Line Number 0390, Material Set 613101796, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366B, Item 6131017, Project Item Line Number 0390, Material Set 613101796, Material 1057JMDBEC6.11 - Dowel Bar Epoxy Ctd Gr60 1 1/4 @, Acceptance Action Generic ReinforcingMisc is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366, Item 6131018, Project Item Line Number 0130, Material Set 613101896, Material 1057JMTBE42019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366, Item 6131018, Project Item Line Number 0130, Material Set 613101896, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366B, Item 6131018, Project Item Line Number 0400, Material Set 613101896, Material 1057JMTBE42019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3366B, Item 6131018, Project Item Line Number 0400, Material Set 613101896, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Tests need to be removed for material not used on this line number.	degrow1	Overridden

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Note: Posted Q	uantities a				eport Generated date and can differ from the posted amo	unt at the t	ime the E	Estimate was	s Genera	ated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240419-C02	J4I3366	0001	0010	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	897.50	0.00	897.50	TONS	0.00	\$104.00	\$0.00
		0001	0020	4030132	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)	1,568.30	0.00	1,568.30	TONS	0.00	\$140.25	\$0.00
		0001	0030	4071005	TACK COAT	2,244.00	0.00	2,244.00	GAL	0.00	\$2.65	\$0.00
		0001	0040	4133200	ULTRATHIN BONDED WEARING SURFACE, TYPE C	209,635.00	0.00	209,635.00	SQYD	0.00	\$5.70	\$0.00
		0001	0050	6122030	IMPACT ATTENUATOR (RELOCATION)	1.00	-1.00	0.00	EA	0.00	\$1.00	\$0.00
		0001	0070	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	310.70	103.20	413.90	SQYD	413.90	\$271.60	\$112,415.24
		0001	0080	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	31.00	-31.00	0.00	SQYD	0.00	\$10.65	\$0.00
		0001	0090	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	31.00	-31.00	0.00	SQYD	0.00	\$10.65	\$0.00
		0001	0100	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	1,078.00	317.00	1,395.00	LF	1,395.00	\$9.60	\$13,392.00
		0001	0110	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	220.00	43.00	263.00	EA	263.00	\$8.50	\$2,235.50
		0001	0120	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	110.00	10.00	120.00	EA	120.00	\$16.80	\$2,016.00
		0001	0130	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	55.00	64.00	119.00	EA	119.00	\$9.05	\$1,076.95
		0001	0140	6161005	CONSTRUCTION SIGNS	961.00	0.00	961.00	SQFT	866.00	\$7.45	\$6,451.70
		0001	0150	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$53.00	\$106.00
		0001	0160	6161025	CHANNELIZER (TRIM LINE)	150.00	0.00	150.00	EA	150.00	\$17.00	\$2,550.00
		0001	0170	6161033	DIRECTIONAL INDICATOR BARRICADE	60.00	-32.00	28.00	EA	28.00	\$48.00	\$1,344.00
		0001	0180	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$800.00	\$1,600.00
		0001	0190	6161055	SEQUENTIAL FLASHING WARNING LIGHT	120.00	-92.00	28.00	EA	28.00	\$47.85	\$1,339.80
		0001	0200	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$1,600.00	\$3,200.00
		0001	0210	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$142,150.00	\$71,075.00
		0001	0220	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	69,919.00	0.00	69,919.00	LF	0.00	\$0.32	\$0.00
		0001	0230	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	57,378.00	0.00	57,378.00	LF	0.00	\$0.32	\$0.00
		0001	0240	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,624.00	0.00	2,624.00	LF	0.00	\$1.05	\$0.00
		0001	0250	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	22,439.00	0.00	22,439.00	SQYD	0.00	\$1.85	\$0.00
		0001	0260	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,267.00	0.00	2,267.00	SQYD	0.00	\$9.70	\$0.00
		0001	0270	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	501.80	0.00	501.80	STA	0.00	\$12.85	\$0.00
	Project J4	13366 - Tot	al Value F	Posted to Da	te as of Report Generated Date							\$218,802.19
	J4I3366B	0001	0280	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	925.80	0.00	925.80	TONS	0.00	\$103.00	\$0.00
		0001	0290	4030132	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)	19,763.10	0.00	19,763.10	TONS	0.00	\$126.50	\$0.00
		0001	0300	4071005	TACK COAT	19,004.00	0.00	19,004.00	GAL	0.00	\$2.65	\$0.00
		0001	0310	4134000	BITUMINOUS FOG SEAL	15,228.00	0.00	15,228.00	GAL	0.00	\$0.01	\$0.00
		0001	0320	6122030		1.00	-1.00	0.00	EA	0.00	\$1.00	\$0.00
		0001	0340	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	877.30	160.20	1,037.50	SQYD	1,037.50	\$271.60	\$281,785.00
		0001	0350	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	88.00	-88.00	0.00	SQYD	0.00	\$10.65	\$0.00
		0001	0360	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	88.00	-88.00	0.00	SQYD	0.00	\$10.65	\$0.00
		0001	0370	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	3,424.00	374.00	3,798.00	LF	3,798.00	\$9.60	\$36,460.80
		0001	0380	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	1,060.00	-262.00	798.00	EA	798.00	\$8.50	\$6,783.00
		0001	0390	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	230.00	18.00	248.00	EA	248.00	\$16.80	\$4,166.40
		0001	0400	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	120.00	59.00	179.00	EA	179.00	\$9.05	\$1,619.95
		0001	0410	6161005	CONSTRUCTION SIGNS	604.00	0.00	604.00	SQFT	546.00	\$7.45	\$4,067.70
		0001	0420	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$53.00	\$106.00
		0001	0430	6161025	CHANNELIZER (TRIM LINE)	150.00	0.00	150.00	EA	150.00	\$17.00	\$2,550.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Post Pall (An Letting of An Letting of An

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240419-C02	J4I3366B	0001	0440	6161033	DIRECTIONAL INDICATOR BARRICADE	20.00	8.00	28.00	EA	28.00	\$48.00	\$1,344.00
		0001	0450	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$800.00	\$1,600.00
		0001	0460	6161055	SEQUENTIAL FLASHING WARNING LIGHT	40.00	-12.00	28.00	EA	28.00	\$47.85	\$1,339.80
		0001	0470	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$1,600.00	\$3,200.00
		0001	0480	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$195,284.35	\$97,642.18
		0001	0490	6191000	PAVEMENT EDGE TREATMENT	50,176.00	0.00	50,176.00	LF	0.00	\$0.01	\$0.00
		0001	0500	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	70,491.00	0.00	70,491.00	LF	0.00	\$0.32	\$0.00
		0001	0510	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	57,615.00	0.00	57,615.00	LF	0.00	\$0.32	\$0.00
		0001	0520	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,298.00	0.00	2,298.00	LF	0.00	\$1.05	\$0.00
		0001	0530	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	190,042.00	0.00	190,042.00	SQYD	0.00	\$1.10	\$0.00
		0001	0540	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	501.80	0.00	501.80	STA	0.00	\$12.85	\$0.00
	Project J4	13366B - To	otal Value	e Posted to D	Date as of Report Generated Date							\$442,664.82
40419-C02 Ove	rall - Total	Value Post	ed to Dat	e as of Repo	rt Generated Date							\$661,467.02



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0070	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	7/30/24	7/30/24	103.20	SQYD	All locations on previous estimate.					
0100	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR	7/30/24	7/30/24	317.00	LF	All locations on previous estimate.					
0110	6131015	DOWEL BAR (DRILLING, FURNISHING AND INST	7/30/24	7/30/24	43.00	EA	All locations on previous estimate.					
0120	6131017	DOWEL BAR (FURNISH AND INSTALL WITH BASK	7/30/24	7/30/24	10.00	EA	All locations on previous estimate.					
0130	6131018	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	7/30/24	7/30/24	64.00	EA	All locations on previous estimate.					
0140	6161005	CONSTRUCTION SIGNS	7/25/24	7/25/24	866.00	SQFT	PERMANENT SIGNS Road Work Ahnead / Route J (LM 0.019) = 16 Road Work Ahnead / Route J (LM 0.023) = 16 Road Work Ahnead / Route 68 NG (LM 0.017) = 16 Road Work Next 10 Miles / I70 WB (LM 161.136) Driving = 10 Road Work Next 10 Miles / I70 WB (LM 161.136) Passing = 10 Work Zone No Phone Zone / I-70 WB (LM 161.370) Driving = 12 Road Resurtacing Spring 2025 / I-70 WB (LM 161.370) Driving = 12 End Road Work / I-70 WB (LM 173.146) Drassing = 8 TEMPORARY SIGNS TEMPORARY SIGNS TEMPORARY SIGNS					$\begin{array}{l} TEMPORARY SIGNS CONT.\\ Speed Limit 60 (12h2) x 4 = 48\\ Speed Limit 70 (12h2) x 4 = 48\\ Yield (53 ft2) x 2 = 14\\ Road Work Ahead (16 ft2) x 4 = 64\\ Right Lane Closed Ahead (16 ft2) x 4 = 64\\ Right Lane Closed (16 Ft2) x 4 = 64\\ Merger (16 Ft2) x 2 = 32\\ Yield Ahead (16 Ft2) x 2 = 32\\ Uneven Lanes (16 Ft2) x 2 = 32\\ Uneven Lanes (16 Ft2) x 2 = 32\\ \end{array}$
0150	6161008	ADVANCED WARNING RAIL SYSTEM	7/25/24	7/25/24	2.00	EA	Road Work Next 10 Miles = 2					
0160	6161025	CHANNELIZER (TRIM LINE)	7/25/24	7/25/24	150.00	EA	I-70 WB Work Zone					
0170	6161033	DIRECTIONAL INDICATOR BARRICADE	7/25/24	7/25/24	28.00	EA	I-70 WB Work Zone = 28					
0180	6161040	FLASHING ARROW PANEL	7/25/24	7/25/24	2.00	EA	I-70 WB Work Zone					
0190	6161055	SEQUENTIAL FLASHING WARNING LIGHT	7/25/24	7/25/24	28.00	EA	I-70 WB Work Zone					
0200	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	7/25/24	7/25/24	2.00	EA	I-70 WB (LM 160.895) = 1 Route 65 SB (LM 130.552) = 1					
0210	6181000	MOBILIZATION	7/30/24	7/30/24	0.25	LS	10% of the job complete.					

Project: J4I3366B

Line Number	ltem Code	Description	DWR Date	DWR Approval	Quantity Posted	Units	Location	From Station/	Offset/ Distance	To Station/	Offset/ Distance	Comments
Number	Code		Date	Date	Posted			Log Mile	Distance	Log Mile	Distance	
0340	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	7/30/24	7/30/24	252.50	SQYD	$\begin{array}{l} 80.107 = 8\\ 80.361 + 80.365 = 32.7\\ 80.361 + 80.365 = 32.7\\ 80.948 = 8\\ 81.605 + 81.607 = 28\\ 81.780 = 8\\ 81.792 = 8\\ 81.896 + 81.907 = 24.7\\ 81.896 + 81.907 = 24.7\\ 81.896 + 81.907 = 24.7\\ 81.928 - 81.932 = 24.7\\ 81.928 - 81.932 = 24.7\\ 81.987 = 8\\ 82.172 = 8\\ 82.172 = 8\\ 82.149 = 8\\ 82.149 = 8\\ 82.149 = 8\\ 82.161 = 8\\ 82.172 = 8\\ 82.172 = 8\\ 82.162 = 8\\ 8$					
0370	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR	7/30/24	7/30/24	1,021.00	LF	$\begin{array}{l} 80.107 = 36\\ 80.361 - 00.365 = 112\\ 80.899 = 36\\ 80.946 = 72\\ 81.420 = 40\\ 81.650 - 81.607 = 102\\ 81.792 = 36\\ 81.792 = 36\\ 81.896 - 81.901 = 82\\ 81.928 - 81.932 = 103\\ 81.985 = 236\\ 81.987 = 36\\ 82.149 = 36\\ 82.149 = 36\\ 82.149 = 36\\ 82.172 = 36\\ 82.172 = 36\\ 82.172 = 36\\ 82.167 = 36\\ 82.167 = 36\\ 82.172 = 3$					
0380	6131015	DOWEL BAR (DRILLING, FURNISHING AND INST	7/30/24	7/30/24	400.00	EA						
0390	6131017	DOWEL BAR (FURNISH AND INSTALL WITH BASK	7/30/24	7/30/24	18.00	EA	All locations on previous estimate.					
0400	6131018	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	7/30/24	7/30/24	59.00	EA	All locations on previous estimate.					
0410	6161005	CONSTRUCTION SIGNS	7/25/24	7/25/24	546.00	SQFT	$\begin{array}{l} \text{PERMANENT SIGNS}\\ \text{PTO EB Driving Lane / Road Work Next 10 Miles (LM 75.18) = 10\\ \text{PTO EB praising Lane / Road Work Next 10 Miles (LM 75.13) = 10\\ \text{PTO EB Passing Lane / Road Work Next 10 Miles (LM 75.62) = 32\\ \text{GS N9 / I-70 EB Ramp / Road Work Ahead (LM 0.02) = 16\\ \text{J / I-70 EB Ramp / Road Work Ahead (LM 0.019) = 16\\ \text{J / I-70 EB Ramp / Road Work Ahead (LM 0.019) = 16\\ \text{J / I-70 EB Ramp / Road Work Ahead (LM 0.019) = 16\\ \text{J / I-70 EB Ramp / Road Work (LM 65.65) = 8\\ \text{GS N9 / I-70 EB Clover Leaf Ramp (Road Work Ahead (LM 0.017) = 16\\ \text{LM 0.021) = 16}\\ \text{ED riving Lane / Pro Road Work (LM 65.65) = 8\\ \text{LM 0.021} = 16\\ \text{LM 0.021} = 16$					Temporary Signs Road Closed (On Barricade) = 10 Road Closed (On Barricade) = 10 Work Zone (612) x 4 = 24 Speed Limit 60 (12F2) x 4 = 48 Speed Limit 70 (12F2) x 2 = 24 Yield (6.03F12) x 2 = 14 Road Work Ahead (16F2) x 4 = 64 Right Lane Closed (16F2) x 4 = 64 Merge (16F2) x 2 = 32 Road Work Ahead (16F2) x 2 = 32 Road Work Ahead (16F2) x 2 = 32



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line lumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0420	6161008	ADVANCED WARNING RAIL SYSTEM	7/25/24	7/25/24	2.00	EA	Road Work Next 10 Miles = 2					
0430	6161025	CHANNELIZER (TRIM LINE)	7/25/24	7/25/24	150.00	EA	I-70 EB Work Zone = 150					
0440 61	6161033	DIRECTIONAL INDICATOR BARRICADE	7/25/24	7/25/24	20.00	EA	I-70 EB Work Zone = 28					
			7/30/24	7/30/24	8.00	EA	All locations on previous estimate.					
0450	6161040	FLASHING ARROW PANEL	7/25/24	7/25/24	2.00	EA	I-70 EB Work Zone = 2					
0460	6161055	SEQUENTIAL FLASHING WARNING LIGHT	7/25/24	7/25/24	28.00	EA	I-70 EB Work Zone = 28					
0470	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	7/25/24	7/25/24	2.00	EA	I-70 EB (LM 73.495 = 1 Route 65 NB (LM 181.067) = 1					
0480	6181000	MOBILIZATION	7/30/24	7/30/24	0.25	LS	10% of the job complete.					



Line Item Adjustments by Estimate

Contract ID: 240419-C02

Number Number<	Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks			
PLCS PLCS <td< td=""><td>Fioject</td><td>LING</td><td>Description</td><td></td><td>Adjustment</td><td></td><td></td><td></td><td>Amount</td><td>i verindi ka</td></td<>	Fioject	LING	Description		Adjustment				Amount	i verindi ka			
PDEPTH PDEPTH<	J4I3366	0070	PLACE CONC MATL FOR FULL	Material		1		SYSTEM	\$84,386.12	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment			
v v v v v v v v v						1		SYSTEM	(\$84,386.12)				
Image: Control - Total Image: Control - Total Image: Control - Total Image: Control - Total 070 - Total - Total 500 071 - Total - Total 500 071 - Total - Total 500 071 - Total - Total 500 011 - Total - Total 500 012 - Total - Total 500 013 - Total - Total 500 014 - Total - Total 500 015 - Total - Total 500 015 - Total - Total 500 016 - Total - Total 500 017 - Total - Total 500 018 - Total - Total 500 018 - Total - Total 500 018 - Total - Total 500 <						2		SYSTEM	\$112,415.24	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment			
Action Value of the control of the contro						2		SYSTEM	(\$112,415.24)				
SOT0 - Total 0110 DOWEL MAR PLRNB HING AND INST Material - Total 1 Jul 15, Jul 2024 SYSTEM S187000 Teaming in Adjustment officials the original system-generated Material Payment Elimitable interval in the summer Payment Elimitable Elimitable interval in the summer Payment Elimitable interval interval inter					- Total				\$0.00				
010 DVRE, RAB, PERLING, VAND INST Modernal Parameterization Public Parameterization Public Parameterizatio Public Parameterization Public Pa				Material - To	otal				\$0.00				
Image: Figure		0070 -	Total						\$0.00				
1 Juli 1 SYSTEM (61870.00) - Total - S0.00 Material - Total - S0.00 - Total - Total - Total - Total - Total - Total - Total - S0.00 - Total - Total - Total - Total <td></td> <td>0110</td> <td>(DRILLING, FURNISHING</td> <td>Material</td> <td></td> <td>1</td> <td></td> <td>SYSTEM</td> <td>\$1,870.00</td> <td>Estimate Item Adjustment (0002) due to user degrow1 overridding Payment</td>		0110	(DRILLING, FURNISHING	Material		1		SYSTEM	\$1,870.00	Estimate Item Adjustment (0002) due to user degrow1 overridding Payment			
Image: state in the st			AND INST			1		SYSTEM	(\$1,870.00)				
Ot10-Total Ot120 Ot120 DOVEL BAR AND WTH EAR Material I 2024 SYSTEM \$1.84.80 \$1.84.80 This adjustment officits the original system-generated Material Payment Estimate ten Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate. 4 1 Jul 15, 2024 SYSTEM \$(3.184.80.0) This adjustment officits the original system-generated Material Payment Estimate Exception 11 on the current Payment Estimate. 4 Jul 15, 2024 SYSTEM \$(2.016.00) This adjustment officits the original system-generated Material Payment Estimate Exception 7 on the current Payment Estimate. 7 Total					- Total				\$0.00				
0120 DOWEL B.AS (FURNAL) WITH BASK Material (FURNAL) WITH BASK Material Payment (FURNAL) WITH BASK Material P				Material - To	otal				\$0.00				
0120 (FRINAL NOT INSTAL) (FRINAL NUTH BASK Material (FRINAL NOT INSTAL) (FRINAL NUTH BASK Material (FRINAL NOT INSTAL) (FRINAL NUTH BASK Material (FRINAL NOT INSTAL) (FRINAL NUTH BASK Material (FRINAL NUTH BASK Material (FRINAL NOT INSTAL) (FRINAL NUTH BASK Material (FRINAL NOT INSTAL) (FRINAL NUTH BASK Material (FRINAL NUTH BASK Material Payment (FRINAL NUTH BASK Material Pa		01 <u>10</u> -	Total						\$0.00				
VITH BASK		0120	(FURNISH AND INSTALL	Material		1		SYSTEM	\$1,848.00	Estimate Item Adjustment (0003) due to user degrow1 overridding Payment			
Image: Problem in the second						1		SYSTEM	(\$1,848.00)				
Image: A state in the						2	Aug 1, 2024	SYSTEM	\$2,016.00	Estimate Item Adjustment (0002) due to user degrow1 overridding Payment			
Image: Normal information of the section of the sectin of the sectin and the seccil of the section of the section of t						2	Aug 1, 2024	SYSTEM	(\$2,016.00)				
of 20 - Total S0.00 0130 TIE BAR (DRILL, FURN & INSTAL) (TYPE L Material (DRILL, FURN & INSTAL) (DRILL, FURN & INSTAL) Material L 1 Jul 15, 2024 SYSTEM \$497.75 This adjustment (0004) due to user degrow 1 overridding Payment Estimate Exception 17 on the current Payment Estimate. 1 Jul 15, 2024 SYSTEM (\$497.75) This adjustment (0003) due to user degrow 1 overridding Payment Estimate Item Adjustment (0003) due to user degrow 1 overridding Payment Estimate Item Adjustment (0003) due to user degrow 1 overridding Payment Estimate Item Adjustment (0003) due to user degrow 1 overridding Payment Estimate Item Adjustment (0003) due to user degrow 1 overridding Payment Estimate Item Adjustment (0003) due to user degrow 1 overridding Payment Estimate Item Adjustment (0003) due to user degrow 1 overridding Payment Estimate Item Adjustment (0003) due to user degrow 1 overridding Payment Estimate Exception 13 on the current Payment Estimate. 0130 - Total - Total \$0.00 J4I3366 FURN & PLACE CONC MATE FOR FULL DEPTH Material 1 Jul 15, 2024 SYSTEM \$213.206.00 1 Jul 15, 2024 SYSTEM \$281,785.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 5 on the current Payment Estimate. 1 Jul 15, 2024 SYSTEM \$213.206.00 This adjustment offsets the original system-generated Material P					- Total				\$0.00				
0130 TIE BAR (DRILL, FURN & INSTAL) Material (DRILL, FURN & INSTAL) Material FURN & INSTAL) Material FURN & INSTAL) Material FURN & INSTAL) Material FURN & FURN & FURN & INSTAL) Material FURN & FURN & FU				Material - To	otal				\$0.00				
Image: Construct of the		0120 -	Total						\$0.00				
Image: Concent of the concent of t		0130	(DRILL, FURN & INSTAL)	Material		1		SYSTEM	\$497.75	Estimate Item Adjustment (0004) due to user degrow1 overridding Payment			
J4I3366 - Total 2024 2024 SYSTEM (\$1,076.95) J4I3366 - Total - Total \$0.00 \$0.00 \$0.00 J4I3366 - Total 50.00 \$0.00 \$0.00 J4I3366 - Total \$0.00 \$0.00 \$0.00 J4I3366 - Total \$0.00 \$0.00							1		SYSTEM	(\$497.75)			
Image: Constraint of the second sec									2	Aug 1, 2024	SYSTEM	\$1,076.95	Estimate Item Adjustment (0003) due to user degrow1 overridding Payment
Material - Total \$0.00 0130 - Total \$0.00 J413366 - Total \$0.00 J413366 B \$0340 FURN & PLACE CONC MATL FOR FULL FOR FULL DEPTH Material PLACE CONC MATL FOR FULL FOR FULL DEPTH 1 Jul 15, 2024 \$YSTEM \$213,206.00) This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 5 on the current Payment Estimate. 1 Jul 15, 2024 \$YSTEM \$213,206.00) This adjustment offsets the original system-generated Material Payment Estimate Exception 5 on the current Payment Estimate. 2 Aug 1, 2024 \$YSTEM \$281,785.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 2 Aug 1, 2024 \$YSTEM \$281,785.00 This adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate.								2		SYSTEM	(\$1,076.95)		
O130 - Total \$0.00 J4I3366 - Total \$0.00 \$0.00 J4I3366 - Total \$0.00 \$0.00 J4I3366 - Total \$0.00 \$0.00 \$0.00 J4I3366 - Total \$0.00 \$0.00 \$0.00 \$0.00 J4I3366 - Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 J4I3366 - Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 J4I3366 - Total \$0.00<					- Total				\$0.00				
J4i3366 - Total Solution Soli				Material - To	otal				\$0.00				
J4i3366 - Total Solution Soli		0 <u>130</u> -	Total						\$0.00				
J4I3366B 0340 FURN & PLACE CONC MATL FOR FULL DEPTH Material Jul 15, 2024 SYSTEM \$213,206.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment 1 Jul 15, 2024 SYSTEM \$213,206.00 This adjustment offsets the original system-generated Material Payment Estimate 2 Aug 1, 2024 SYSTEM \$213,206.00 This adjustment offsets the original system-generated Material Payment Estimate 2 Aug 1, 2024 SYSTEM \$281,785.00 This adjustment offsets the original system-generated Material Payment Estimate 2 Aug 1, 2024 SYSTEM \$281,785.00 This adjustment offsets the original system-generated Material Payment Estimate 2 Aug 1, 2024 SYSTEM \$281,785.00 This adjustment offsets the original system-generated Material Payment Estimate 2 Aug 1, 2024 SYSTEM \$281,785.00 This adjustment offsets the original system-generated Material Payment Estimate 2 Aug 1, 2024 SYSTEM \$0.00	J4I3 <u>366 - '</u>												
PLACE CONC MATL FOR FULL DEPTH PLACE CONC MATL FOR FULL DEPTH 2024 2024 SYSTEM Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 5 on the current Payment Estimate. 1 Jul 15, 2024 SYSTEM (\$213,206.00) 2 Aug 1, 2024 SYSTEM \$281,785.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate. 2 Aug 1, 2024 SYSTEM (\$281,785.00)			ELIRN &	Material		1	Jul 15	SYSTEM		This adjustment offsets the original system-generated Material Payment			
- Total 2024 - Total 2024 - Total	0-100000	0040	PLACE CONC MATL FOR FULL	Material			2024			Estimate Item Adjustment (0006) due to user degrow1 overridding Payment			
- Total 2024 2024 Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate.								2024					
- Total \$0.00										Aug 1, 2024			Estimate Item Adjustment (0005) due to user degrow1 overridding Payment
						2	Aug 1, 2024	SYSTEM	(\$281,785.00)				
Material - Total \$0.00					- Total				\$0.00				
				Material - To	otal				\$0.00				



Line Item Adjustments by Estimate

Aug 6, 2024

Contract ID: 240419-C02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
J4I3366B	0340 -	Total						\$0.00			
	0380	DOWEL BAR (DRILLING, FURNISHING AND INST	Material		1	Jul 15, 2024	SYSTEM	\$3,383.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.		
					1	Jul 15, 2024	SYSTEM	(\$3,383.00)			
				- Total				\$0.00			
			Material - To	otal				\$0.00			
	0380 -	Total						\$0.00			
	0390	DOWEL BAR (FURNISH AND INSTALL	Material		1	Jul 15, 2024	SYSTEM	\$3,864.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 14 on the current Payment Estimate.		
		WITH BASK			1	Jul 15, 2024	SYSTEM	(\$3,864.00)			
						2	Aug 1, 2024	SYSTEM	\$4,166.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	
									2	Aug 1, 2024	SYSTEM
				- Total				\$0.00			
			Material - To	otal				\$0.00			
	0390 -	Total						\$0.00			
	0400	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	Material		1	Jul 15, 2024	SYSTEM	\$1,086.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 20 on the current Payment Estimate.		
						1	Jul 15, 2024	SYSTEM	(\$1,086.00)		
						2	Aug 1, 2024	SYSTEM	\$1,619.95	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	
						2	Aug 1, 2024	SYSTEM	(\$1,619.95)		
				- Total				\$0.00			
			Material - To	otal				\$0.00			
	0400 -	Total						\$0.00			
J4I3366B	- Total						\$0.00				
Overall - 1	Total							\$0.00			



There are no contract adjustments to display for this contract.